
DC154 REV B Page 1 of 4
Specifications subject to change without notice. PATENT PENDING.

Installation Instructions: 

THANK YOU...

Thank you for purchasing the Invisia™ Towel Bar. We are 
confident that you will find the unique design and durable 
construction of this product to be of great assistance in your 
daily routine.

To fully enjoy your Invisia™ Towel Bar, please take a few 
moments to read these instructions. You should store these 
instructions in a safe place for future reference.

SAFETY CONSIDERATIONS

CAUTION: It is your responsibility to see that your Invisia™ 
Towel Bar is properly assembled, installed, and cared for. 
Failure to follow instructions in this manual could result in 
serious injury. Support rails can be slippery when wet - use 
this product with caution. 

INVISIA™ TOWEL BAR INSTALLATION
The Invisia™ Towel Bar should only be installed in areas where 
the mounting surface is structurally sound. Strengthening 
modifications may be required (see page 3 for details). Should 
not be installed in fiberglass / acrylic shower enclosures with 
insufficient stiffness and strength. Should not be installed into 
metal studs. If you are not equipped to undertake the outlined 
work we recommend that you have your Invisia™ Towel Bar 
installed by a qualified contractor. Suggested maximum user 
weight of support rail is 500lbs/227kg, however this rating is 
conditional upon suitable fasteners and supporting surface. 

WARRANTY

All HealthCraft™ Products are covered by a one year limited 
warranty with the exception of hand grips which are subject to 
normal wear. Buyer hereby indemnifies, agrees to hold 
harmless and defend HealthCraft™ Products Inc. from and 
against any and all liabilities, claims, (founded and 
unfounded), losses, damages, costs and expenses (including 
without limitation consequential damages and reasonable 
professional fees) resulting from buyers specification, 
application, or improper use of goods described hereon; 
buyers omission or neglect. 

HealthCraft™ Products Inc. does not assume any liability for 
damage resulting from services performed by others or faulty 
installation, misuse or misapplication of goods sold by 
HealthCraft™ Products Inc. 

HealthCraft™ Products Inc. shall not be liable for prospective 
profits or special, indirect, or consequential damages, or for 
the cost of any corrective work done without HealthCraft™ 
Products Inc. prior approval. HealthCraft™ Products Inc. total 
liability hereunder shall in no event exceed the purchase price 
of the goods specified hereon.

TOOLS REQUIRED

• Level       • Personal Protective Eyewear
• Hammer  • Carbide tip drill suitable for tile
• Stud Finder  • Protective blanket

HealthCraft Products Inc., Toll Free 888-619-9992.
2790 Fenton Road, Ottawa, Ontario, Canada, K1T 3T7.

Invisia™ Towel Bar

All mount points fasten 
into structural wood 
(wood studs, 
reinforced wood 
framing, etc.)

Minimum one (center) 
mount point fastens into 
structural wood; no 
structure available for 
other mount points

None of the mount 
points align with the 
available structure

#10 x 2" S/S Screw 
and Lock Washer (into 
wood)

#10 x 2" S/S Screw and 
Lock Washer (into wood) 

+ SnapToggles® with 
#10 x 2" S/S Bolts 

(for areas w/o structure)

WE DO NOT 
RECOMMEND THIS 
PRODUCT BE 
INSTALLED USING 
ONLY SNAP 
TOGGLES®.

500lbs load capacity 350lbs load capacity N/A

PARTIAL MOUNTING
STRUCTURE
AVAILABLE

NO MOUNTING
STRUCTURE
AVAILABLE 

FULL MOUNTING
STRUCTURE

(RECOMMENDED)

FASTENERS: INSTALLATION & MAINTENANCE

The Invisia™ Towel Bar must be secured to the wall with 
fasteners appropriate to the structural material. Included are 2 
sets of mounting hardware for different wall applications. 
Inspect, or have inspected (and tighten if necessary) the 
screws on a monthly basis. See Page 3 for structural 
reinforcement suggestions. Supplied SnapToggles® can be 
used (in conjunction with a wood screw into suitable structure) 
as an alternative to structural reinforcement - ONLY if  the 
walls have not been compromised and are judged to be 
suitably structural (1/2" drywall, or tile walls on 1/2" min 
cement board). 

TIPS FOR DRILLING INTO TILE

• Use carbide tipped masonry drill on ceramic, or consider a 
diamond tip drill for porcelain tile. 

• If possible, drill a smaller pilot hole first.

• Be careful to prevent the drill from moving when you first 
start it rotating - use duct tape or a wood guide on the 
surface of the tile to hold the drill from walking sideways.

• A variable speed drill on slow is best to start the hole. Do 
not apply too much pressure when drilling. Do not use a 
hammer drill.

WATERPROOFING

Although mounting hardware includes rubber gasket  washer, 
we recommend that sealant be applied around the wall 
contact points for any products mounted in the shower. If not 
properly sealed, there is the potential for water to seep into the 
wall. This may cause the wood to rot, thus compromising the 
structure the support rail is attached to.

INV-TB24-BS / INV-TB16-CP
INV-TB16-BS / INV-TB16-CP



DC154 REV B Page 2 of 4
Specifications subject to change without notice. PATENT PENDING.

HealthCraft Products Inc., Toll Free 888-619-9992.
2790 Fenton Road, Ottawa, Ontario, Canada, K1T 3T7.



DC154 REV B Page 3 of 4
Specifications subject to change without notice. PATENT PENDING.

HealthCraft Products Inc., Toll Free 888-619-9992.
2790 Fenton Road, Ottawa, Ontario, Canada, K1T 3T7.



DC154 REV B Page 4 of 4
Specifications subject to change without notice. PATENT PENDING.

TB200 (BN/CRP/PCW)
Weldment, Handle, TB16

TB201 (BN/CRP/PCW)
Weldment, Handle, TB24

HealthCraft Products Inc., Toll Free 888-619-9992.
2790 Fenton Road, Ottawa, Ontario, Canada, K1T 3T7.

2.25"
(5.7cm)

2.25"
(5.7cm)

x3

x2

x2

HW175
Screw, PPH WS, #10-12 x 3", S/S

HW174 
Screw, PPHMS, #10-24 x 3", S/S

HW225
SnapToggle® Toggle Bolt

HARDWARE

x3HW177 
Washer, Lock, 
Split, #10 18-8 S/S

SD107
Bar, Center Punch, SD

x1

x1

HW300
Hex-Key, 3/32 in., Short Arm 


